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écoszt—2(1+/2—)cost +/2 = 0
cos x - &4 sinx cosx + 35 cosx = 0O

2
sinx cosx + 2cosx = 0

® OROOE

2
S sin x 4+ 35 sinx cosx - 4 = 0
2 sinzx ~ coszx = % + 5 sinx cosx
. 4 s 4
2 sin x - gin x coszx - 3cosx = 0
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k) 5 sinz(x) + 35 sin(ﬁ)cos(f() - 41= 0 {\La(é/ﬂ
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lf) Résoudre les équations suivantes :

2cosx + 3sinx = 1
3cosx + 2s8inx = -3
&) 2cosx + 3sinx = 3
d) cos x + 2sinx =
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&coszt—2(1+/2_)cost +/2 = 0

2
cos x - 4 sinx cosx + 35cosx = 0

2
sinx cosx + 2cos x = 0

2
5sinx + 35 sinx cosx - 4 = 0
2 sinzx -~ coszx = % + 5 sinx cosx
. 4 2 4
2 sin x - sin x coszx -~ 3¢cosx = 0
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